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PERMISSIBLE NOISE EXPOSURES
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F
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 = 0.500 + 0.25 + 0.188

F

e

 = 0.938

Since the value of F

e

 does not exceed unity, the exposure is within permissible limits.

Exposure to impulsive or impact noise should not exceed 140 dB peak sound pressure level.

An effective hearing conservation program will be created whenever employee noise exposures 

equal or exceed an 8-hour time-weighted average sound level (TWA) of 85 decibels measured 

on the A scale (slow response) or, equivalently, a dose of fifty percent.

L  = The duration of the permissible noise exposure at the constant level (from Table).

If the value of F

e

 exceeds unity (1) the exposure exceeds permissible levels.

A sample computation is as follows. An employee is exposed at these levels for these periods:

  110 db A 1/4 hour.

  100 db A 1/2 hour.

    90 db A 1 1/2 hours.

F
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 = (1/4 / 1/2) + (1/2 / 2) + (1 ½ / 8)

1/4 or less 115

When the daily noise exposure is composed of two or more periods of noise exposure of 

different levels, their combined effect should be considered, rather than the individual effect of 

each. Exposure to different levels for various periods of time shall be computed according to the 

formula set forth in this section.
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) where:

F

e

 = The equivalent noise exposure factor.

T  = The period of noise exposure at any essentially constant level.
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